[55#F] SEHAUFKHNEEREE BERTHS HEHME 18140

N 5 S i
(e) EZEHHOBHEZERLAH 2,048 2,150 4,198
(b)) BELAOREBHRER 0 0 0
(e') EZELHOEEEH ()+b) 2,048 2,150 4,198
(7) ZHBEREEH 616 445 1,061
(4) HBRAEEEHN 790 954 1,744
() FHEEBEEHR 22 19 41
(f) BEEH (F)+(1)+(D) 1,428 1,418 2, 846
(g) E H# & # (e)-() 620 132 1,352
B E X 69. 73% 65. 95% 67.79%

' 5 2 % i
(¢) BELAOHNMIEFCHRS HEEH () 2 i 3
B R EnrEe2E T i rsiomn sy s RBER ‘ 0 ‘
(G) FEEH (E)-F) 1 1 2
B R X 50. 00% 0. 00% 33.33%

& & 8 % 5
(X') ZEZIZBOAEZEHEHT )+(E) 2,050 2,151 4,201
(Y) BEEHREH 6+ 1,429 1,418 2,847
(z) ZEFEHET X)) =(g)+(@) 621 733 1,354
B OE X 69. 71% 65. 92% 67.77%




